U3D4 - Solving Systems Algebraically.notebook October 17, 2018

HW 3 - 3: Answers
1. {(2, 1)} 4. (x+1)°+(y-2)*’=9

2. {(-2,-3), (1, 3)} ((-4, 2), (2, 2)}
3. {(1,-1), (3,-3)}] 3 x-2°+(y+3)°=16
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1. a  Solve graphically: .
Xx+2y=4 - *«.rr ¥
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b. Solve the same system algebraically.
{ oo
3(x+2y 4)
=3Y+y =-5

aXtuy eIz - :
ba‘y" +-¥!:”_§_' X+2 :—\I— Z_JF}
<7 £es

o=

}



U3D4 - Solving Systems Algebraically.notebook

Solve graphically. Be sure to include all required parts.
HW 3-5 #1

y=2x+1

y=2x'+4x-3

y=2X*4x-3

October 17, 2018



U3D4 - Solving Systems Algebraically.notebook

3. (x-3)%+ (y+1)’= fl
y=-x  m3-\ b=0O
center: (3, -1)

radius 2

Answer: {(1, -1), (3, -3)}
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4. x2+y2+2x-4y-4:0
y=2

x2+2x+1+y2—4y +4=4+1+4
(x+1)+(y-2Y=9

center: (-1, 2)

radius: 3

Answer:

{(-4,2), (2, 2)}
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5. XE+Y2‘4X+6Y_3:G
_1":1

izh‘qx#‘l‘i“!ﬁyl'}"{ﬁ\fﬁ'q:j'}"q‘% .
center - (2,-3)
radius: 4
Y= X-1

m =1
b=t
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Solve the two equations from yesterday algebraically.

Steps to consider:
Solve the linear equation for x ory.

Substitute into the circle (or parabola) equation.
Solve.

91:59)@&

Substitute your answer into the linear equation to solve for the remaining variable.
Express your answer as points in solution ie {(2, 3), (-1, 4)}
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=9\5 )(-‘—.)) ‘ )(:-3

_ H(3) ¥34=0| 4(-3) +3y=o

=35 |a=-%3 -;;:-333
Y=y Y=+

:35@_5) (3,9 | (-3,4)
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2. (x-2P+(y+3)3%=4
X-y=3
NG

S (XX + (=347 =4
vy 4 x =4
e =P T =_‘ff

2x* -Yx =0

A x-D=D

= X-a=0
0-u=3 A-y=
-%—,3 “\'3‘:'
§=3 3
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Solve the systems algebraically:

3. (x-12+(y-2)32=4
y=2x+2
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4. y=x*-6x+3

Y (X1

Ax-13 =X THox 3

O = x°2=-3x +lp
O =(x-H(Xx-P
X-4=6
X=Y
y=2aH)-\3

4=-5
2(4,-5)3%
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ba,g S Nokes *Y
5. 2+ 2:1 —-—% =(ol03 r=‘
=x+1 o AN A
>3 Y= 3 X +2. =3 —T;—
(hint: only ene solution can be obtained b= ’s
graphically. You must find the second solution
algebraically)

:.-_y-\-\
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